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Section=-A
(POLITICAL SCIENCE)

(Short Answer Type Questions)

1. (a) What are the different forms of power sharing in modern

democracies ? Explain your answer with examples.
Or
What is a Federalism ? Describe its features in detail. 4

(b) What are the three determinants to accommodate social division

in politics ?

Or
Write a note on the diversity of Jammu and Kashmir, 4
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(€}  What is a Pressyre Group ? Discuss the role of pressure groups
n the modem democracies.
Or

Define a political party. Write a short note on the ideologies of

each political party in Jammu and Kashmir 4

(d) Describe the conditions under which democracies accommodate
social diversities.
Or
Why is democracy known as a4 better form of Government ?
Discuss. 4
(Very Short Answer Type Questions)
2. What is Sarvashiksha Abhiyan ° 2
(Objective Type Questions)
3. Choose the correct/most appropriate answer :
(@ Jammu and Kashmir has a
}‘f Bicameral Legislature
(1)  Unicameral Legislature
(iii) Both Bicameral and Unicameral legislature

(iv) None of these

(L. Fill in the blank :

In India seats arc reserved for women in ... :
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Scction-B
(ECONOMICS)
(Long Answer Type Questions)
4. The growth of handicraft and handloom industry in the State is
slow. Why ? Give reasons. ’
Or

Write down the basic objectives of forest policy in Jammu and

Kashmir. 6

(Very Short Answer Type Questions)
5. What are the benefits from Tourism in Jammu and Kashmir ? 2
(Objective Type Questions)

6. (a) Fill in the blank :

Jammu and Kashmir has great potential of religious .~....... . 1

L

(b) Wnite True/False :
PMRY, REGP. SGSY and NREGS are special employment

generation programmes in Jammu and Kashmir.

Turn Over

SSEVJ m 5 "'"6605 "'Q

C-5-0



Section-(’
(DISASTER l\-‘[ANAGEMENT)

(Very Short Answer Type Qucsiitms)

and Rescuc Team 7 2

2

p
(a) Wh i
hat are the main objectives of Scarch

by W
Vhat should be done to avoid polythene 7
(Objective Type Questions)

8.  Fill in the blank :

..........

If vou have a hf
you have a life treatemng cmergence. call only
telephone numbers

Section-D)
(HISTORY)
(Long Answer Type Questions)

9 (a) Descnbe four stages of unification of Germany.

Or

kans ? Give reasons. 6

nalist tensions €METES in Bal

Why did natio
ps of Indians participat

d vanous classes and grou
7 Discuss.

e in the

(b) Why di
civil disobedience movement

Or
Explain how the first world warf helped in the growth of

N;timﬂ] Movcn‘tﬂl in India.
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(Short Answer Type Questions)

10 (@} How the glohal transfer of disease in the pre-modern  world
helped in the colonisation of America 7

Or

What 1s referred o as the (5-77 countnies ? In what ways can

G-77 be seen as reaction 1o the activities of Bretton Woods

Twins ? _—
(b Why did industnal production in India increase during the First
World War ?
Or
Explain what is meant by Haussmanisation of Paris ? To what
extent would you suppont or oppose this form of development ?
Give reasons. 4
(¢) Descnibe how pnint culture assisted the growth of nationalism in
India.
Or
Whal- did the spread of pnnt culture in 19th century India
means to women and poor people ? 4
(Very Short Answer Type Questions)
1. (a) What is Conservatism ? 2
(b) Examine the role of missionaries in the growth of press in
- India. 2
SSEWZIN1S —6605-Q Turn Over

C-5¢



( 6 )

(Objective Type Questions)

12. Choose the correct/most appropriate answer
(@) When was complete independence declared as the aim of

Congress

@ 1909

Fill in the blank :

(b)
The American continent was discovered by ......... and the city
of London was a magnet for migrant ... Yoty
(c) Write True/False :
Indian industrial growth increased after first world war because
India became independent. ‘F"‘!’s" 1
(d) One word substitution :
A metal frame in which types are laid and text composed 1s
called as ........... . and a system of Governance in which®
absolute power i: exercised by an individual is-known as
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Section~E
(GEOGRAPHY)
(Long Answer Type Questions)

I3. (a) Describe various technological and institutional reforms which
led to green and white revolution in India.

Or

Give the climatic conditions required for the growth of Rice
cultivation. Mention the leading rice growing states with their

contribution 1o the total rice production in India. 6

(b) Why do you think that solar energy has bright future in India ?
Give reasons.

Or

Describe the importance. distribution and production of Iron ore

in India. 6
(Short Answer Type Questions)

14. _(a)—-What are Natural Resources ? Why is conservation of resources

necessary ?
Or
What is land degradation ? Suggest measures for its conservation. 4
(b) Give the importance, sources and uses of water in India briefly.

Or

What is rain water harvesting ? Describe its main objectives. 4
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() Map Work :
Indicate any four major Iron and Steel Plants in a given outline

map of India.
Or
Indicate anv finer major Cotton Textile Industries in a given
outline map of India.
(Very Short Answer Type Questions)
15. (a; Why are most Jute mills of India located in West Bengal ?
(by Name five means of transport found in India.
(Objective Type Questions)
16. Choose the correct/most appropriate answer :
(a)  Which one of the following is a Renewable Resource ?
(1 Coal (1) Forests
iin)  Petroleum (iv) Iron ore
by The nanonal animal of India s
t1r - Tiger (i) Lion
(i Cow (iv) Elephant
¢) Fill in the blank :
Tea 1s often called the ............. :
(d) Write True/False :
The Great plains have more railways than Himalayan Mountain

Region.
Major roads connecting different parts of the country through

several states is called state high ways.

(e)
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